
TECH DATA SHEET 1070229/03/16

Nickel Plated 
Brass Adaptors

Bulkhead Connector

Code A B
C 

MAX
D E CH1 CH2

3060-M5 M5 M10 x 1 7 10.5 3.5 14 14

3060-1/8 1/8" M16 x 1.5 10 14 4 22 19

3060-1/4 1/4" M20 x 1.5 16 21 4 27 24

3060-3/8 3/8" M26 x 1.5 15 21 5 32 30

3060-1/2 1/2" M28 x 1.5 21 27 6 36 32

11.11

Serie Accessories

Aignep si riserva il diritto di variare modelli e ingombri senza preavviso.
Aignep reserves the right to vary models and dimensions without notice.

Aggiornamento: 16 Maggio 2014
Updated May 16, 2014

3050
PORTAGOMMA FEMMINA - FEMALE HOSE ADAPTER

 A  A1 B C L CH 
Conf.

       Pack.

 6  1/8 19.5 8.5 30 14 50

 6  1/4 19,5 11 32,5 17 50

 7  1/8 19.5 8.5 30 14 50

 7  1/4 19.5 11 32.5 17 50

 8  1/4 19.5 11 32.5 17 50

 9  1/4 19.5 11 32.5 17 50

 9  3/8 19.5 11.5 33.5 20 25

 10  1/4 19,5 11 32,5 17 25

 10  3/8 19.5 11.5 33.5 20 25

 12  3/8 19.5 11.5 33.5 20 25

 12  1/2 19.5 14.5 37.5 24 25

3055
RACCORDO A L PORTAGOMMA MASCHIO - MALE HOSE ADAPTER ELBOW

CH

C
B

A1

D

A

 A  A1 B C D CH 
Conf.

       Pack.

 6  1/8 7.5 17 14 11 50

 6  1/4 11 22 14 11 50

 7  1/8 7.5 17 14 11 25

 7  1/4 11 22 14 11 25

 9  1/4 11 22 14 11 25

3060
RACCORDO Dl ATTRAVERSAMENTO - BULKHEAD CONNECTOR

A B C MAX D E CH1 CH2 
Conf.

         Pack.

 M5  M10x1 7 10.5 3.5 14 14 25

 1/8  M16x1.5 10 14 4 22 19 25

 1/4  M20x1.5 16 21 4 27 24 25

 3/8  M26x1.5 15 21 5 32 30 25

 1/2  M28x1.5 21 27 6 36 32 10

 3/4  M28x1.5 21 27 6 36 32 10

1704
GHIERA - NUT

L

A

CH

A CH L 
Conf.

 Pack.

 M10x1 14 4 50

 M16x1.5 22 5 50

 M20x1.5 27 6 50

 M26x1.5 32 7 50

 M28x1.5 36 7 50

 M33x1.5 41 8 50

Codice
Code

030500001BSNB

030500001BTNB

030500001BZNB

030500001BXNB

 030500001BJNB

030500001CBNB

030500001CCNB

030500001CFNB

030500001CGNB

 030500001CLNB

030500001CMNB

Codice
Code

030550001BSNB

030550001BTNB

030550001BZNB

030550001BXNB

030550001CBNB

Codice
Code

0306000001

0306000002

0306000003

0306000004

0306000005

0306000011

Codice
Code

017040001C8NB

017040001E3NB

017040001F2NB

0170400010VNB

017040001H1NB

01704000122NB

ACCESSORI_ITA_ING_2014.indd   11 19/05/14   22:30

11.11

Serie Accessories

Aignep si riserva il diritto di variare modelli e ingombri senza preavviso.
Aignep reserves the right to vary models and dimensions without notice.

Aggiornamento: 16 Maggio 2014
Updated May 16, 2014

3050
PORTAGOMMA FEMMINA - FEMALE HOSE ADAPTER

 A  A1 B C L CH 
Conf.

       Pack.

 6  1/8 19.5 8.5 30 14 50

 6  1/4 19,5 11 32,5 17 50

 7  1/8 19.5 8.5 30 14 50

 7  1/4 19.5 11 32.5 17 50

 8  1/4 19.5 11 32.5 17 50

 9  1/4 19.5 11 32.5 17 50

 9  3/8 19.5 11.5 33.5 20 25

 10  1/4 19,5 11 32,5 17 25

 10  3/8 19.5 11.5 33.5 20 25

 12  3/8 19.5 11.5 33.5 20 25

 12  1/2 19.5 14.5 37.5 24 25

3055
RACCORDO A L PORTAGOMMA MASCHIO - MALE HOSE ADAPTER ELBOW

CH

C
B

A1

D

A

 A  A1 B C D CH 
Conf.

       Pack.

 6  1/8 7.5 17 14 11 50

 6  1/4 11 22 14 11 50

 7  1/8 7.5 17 14 11 25

 7  1/4 11 22 14 11 25

 9  1/4 11 22 14 11 25

3060
RACCORDO Dl ATTRAVERSAMENTO - BULKHEAD CONNECTOR

A B C MAX D E CH1 CH2 
Conf.

         Pack.

 M5  M10x1 7 10.5 3.5 14 14 25

 1/8  M16x1.5 10 14 4 22 19 25

 1/4  M20x1.5 16 21 4 27 24 25

 3/8  M26x1.5 15 21 5 32 30 25

 1/2  M28x1.5 21 27 6 36 32 10

 3/4  M28x1.5 21 27 6 36 32 10

1704
GHIERA - NUT

L

A

CH

A CH L 
Conf.

 Pack.

 M10x1 14 4 50

 M16x1.5 22 5 50

 M20x1.5 27 6 50

 M26x1.5 32 7 50

 M28x1.5 36 7 50

 M33x1.5 41 8 50

Codice
Code

030500001BSNB

030500001BTNB

030500001BZNB

030500001BXNB

 030500001BJNB

030500001CBNB

030500001CCNB

030500001CFNB

030500001CGNB

 030500001CLNB

030500001CMNB

Codice
Code

030550001BSNB

030550001BTNB

030550001BZNB

030550001BXNB

030550001CBNB

Codice
Code

0306000001

0306000002

0306000003

0306000004

0306000005

0306000011

Codice
Code

017040001C8NB

017040001E3NB

017040001F2NB

0170400010VNB

017040001H1NB

01704000122NB

ACCESSORI_ITA_ING_2014.indd   11 19/05/14   22:30

11.6

Serie Accessories

Aignep si riserva il diritto di variare modelli e ingombri senza preavviso.
Aignep reserves the right to vary models and dimensions without notice.

Aggiornamento: 16 Maggio 2014
Updated May 16, 2014

2090
RIDUZIONE CILINDRICA - REDUCER (PARALLEL)

2095
RIDUZIONE CILINDRICA - REDUCER (PARALLEL)

2096
GHIERA - NUT

 A  A1 B L CH 
Conf.       
Pack.

 1/8  M5 6 10.5 14 50

 1/4  1/8 8 13 17 50

 3/8  1/8 9 14 19 25

 1/2  1/8 10 15.5 24 25

 3/8  1/4 9 14 19 25

 1/2  1/4 10 15.5 24 25

 1/2  3/8 10 15.5 24 25

 3/4  1/4 12 17,5 30 25

 3/4  3/8 12 17.5 30 25

 3/4  1/2 12 17.5 30 25

 A  A1  L
Conf.   
Pack.

 1/4  1/8 8 50

 3/8  1/4 9 50

 1/2  3/8 10 50

 3/4  1/2 14 25

 1”  3/4  20 25

ARTICOLO NON NICHELATO
ARTICLE NOT NICHEL-PLATED

 A L CH 
Conf.      
Pack.

 1/8 4.5 14 50

 1/4 5 17 50

 3/8 6 20 50

 1/2 6 24 50

2110
NIPPLO CONICO ORIENTABILE - ORIENTING NIPPLE (TAPER)

A

L

B

A

CH2

CH1

 A B CH1 CH2 L 
Conf.      
Pack.

  1/8 7.5 13 13 25 50

  1/4 11 16 15 33 25

  3/8 11.5 20 17 35.5 25

Temperatura minima / Minimum temperature: -20 °C
Temperatura massima / Maximum temperature: +80 °C

Pressione minima / Minimum pressure: -0.99 bar (-0.099 MPa)
Pressione massima / Maximum pressure: +15 bar (1.5 MPa)

Codice
Code

0209000010WNT

0209000015WNT

0209000019WNT

020900001ADNT

020900001AANT

020900001AENT

020900001AFNT

020900001EDNT

020900001ALNT

020900001AMNT

Codice
Code

0209500015W00

020950001AA00

020950001AF00

020950001AM00

020950001AQ00

Codice
Code

02096000102NB

02096000103NB

02096000104NB

02096000105NB

Codice
Code

0211000001

0211000002

0211000003

2092
RIDUZIONE CILINDRICA CON O-RING NBR - REDUCER (PARALLEL) WITH NBR O-RING

 A 

 B
  L

 

 A1 CH

A A1 B L CH
Conf.   
Pack.

  1/8 M5 5,4 9,4 13 50

 1/4 1/8 5,5 11,1 16 50

  3/8 1/8 6,5 12,6 20 25

  3/8 1/4 6,5 12,6 20 25

  1/2 1/4 9,6 14,6 25 25

  1/2 3/8 9,6 14,6 25 25

  3/4 1/2 11,1 16 34 25

Temperatura minima / Minimum temperature: -20 °C
Temperatura massima / Maximum temperature: +80 °C

Codice
Code

0209200001

0209200002

0209200003

0209200004

0209200005

0209200006

0209200007 

ACCESSORI_ITA_ING_2014.indd   6 19/05/14   22:29

Lock Nut

Female Hose Tail Fixed

Code A L CH

KM10WN 1/8" 4.5 14

KM13WN 1/4" 5 17

KM17WN 3/8" 6 20

KM21WN 1/2" 6 24

Code A A1 B C L CH

FHT7/10 7 1/8" 19.5 8.5 30 14

FHT7/13 7 1/4" 19.5 11 32.5 17

FHT8/13 8 1/4" 19.5 11 32.5 17

FHT9/13 9 1/4" 19.5 11 32.5 17

FHT9/17 9 3/8" 19.5 11.5 33.5 20

FHT10/17 10 3/8" 19.5 11.5 33.5 20

FHT12/17 12 3/8" 19.5 11.5 33.5 20

FHT12/21 12 1/2" 19.5 14.5 37.5 24

Code A A1 B C D CH

3055-6-1/8 6 1/8" 7.5mm 17mm 14mm 11mm

3055-6-1/4 6 1/4" 11mm 22mm 14mm 11mm

3055-9-1/4 9 1/4" 11mm 22mm 14mm 11mm

Brass Elbows,  Male Thread BSPT x Hose Tail


